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St EWE R 13, 7.29G€) 101,423 51,667 49,756 59,361 29,270 30,091  58.53
n 13. 7.29(kk) 101,488 51,707 49,781 59,380 29,284 30,096  58.51
bt B OR2 | 15. 10.26G8) 102,197 52,044 50,153 23,218 12,164 11,054  22.72
St E W RS 16, 7.11G8) 102,098 52,012 50,086 51,301 26,200 25,101  50.25
I 16. 7.11(k) 102,159 52,049 50,110 51,291 26,196 25,095  50.21
Rikbiak B®2s| 12, 6.25(0) 101,422 51,723 49,699 56,788 28,783 28,005  55.99
n 12. 6.25(k) 101,462 51,750 49,712 56,769 28,771 27,998  55.95

n 15.11.9(/)N) 102,160 52,023 50,137 51,969 26,484 25,485  50.87

n 15.11. 9(k) 102,212 52,053 50,159 51,973 26,482 25,491  50.85

n 17. 9.11()N) 102,564 52,249 50,315 61,121 30,790 30,331  59.59

n 17. 9.11(k) 102,625 52,285 50,340 61,132 30,792 30,340  59.57

B ERMEEZE 63 6.12 75,179 38,273 36,906 31,787 15,964 15,823 = 42.28
I 4. 6.21 90,026 45,912 44,114 25,729 13,029 12,700  28.58

I 8. 6.23 97,020 49,378 47,642 26,915 13,698 13,217  27.74

I 12. 6.25 99,370 50,618 48,752 56,485 28,627 27,858  56.84

I 15. 8.31 100,813 51,323 49,490 28,658 14,624 14,034  28.43
BERFASHEEE|62. 4.12 70,880 36,107 34,773 34,879 17,231 17,648  49.21
I 3. 4.7 86,723 44,243 42,480 29,624 14,792 14,832  34.16

I 7. 4.9 95,623 48,779 46,844 37,048 18,353 18,695  38.74

I 11. 4.11 99,155 50,512 48,643 40,888 20,351 20,537  41.24

I 15. 4.13 100,314 51,092 49,222 36,155 17,852 18,303  36.04

= R % 25 61.10.26 69,555 35,399 34,156 33,776 16,260 17,516  48.56
I 2.10.21 85,382 43,523 41,859 29,852 14,360 15,492  34.96

I 6. 10.23 95,673 48,787 46,886 35,969 17,464 18,505  37.60

I 10. 10.25 99,410 50,631 48,779 45,595 21,838 23,757  45.87

I 14. 10.27 100,643 51,266 49,377 38,206 18,792 19,414  37.96

I 18. 10.22 103,006 52,405 50,601 40,668 19,921 20,747  39.48

ST SRR | JT. 7.23 80,566 41,014 39,552 55,684 27,503 28,181  69.12
I 5. 7.18 92,850 47,365 45,485 62,644 31,113 31,531  67.47

I 9. 7.13 98,255 49,972 48,283 51,104 24,631 26,473  52.01

I 13. 7.29 100,063 50,940 49,123 59,070 29,106 29,964  59.03

I 17. 7.24 101,436 51,657 49,779 47,958 23,297 24,661  47.28
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4 |B @ HEKREF 2521 24| 23 (@i JIl £ = Fr 1,595 1.5
5 0 = 3 2,635 25| 24 |fEFEE = 3,634 3.5
25 |b < A Y HE 3,179 3.0

6 |KRIKF X & fif] 4,441 4.3
7 |RfEHE /DK 4,736 4.5 26 |EmMEsUbEr2— 2,796 2.7
8 |db F  F K 682 0.7 27 |E N F X EfE 2,158 2.1
9 |1E B /M F K 3,098 3.0 28 |E K /b F K 6,631 6.4
;ofoh E R 4,063 39 29 |E K £ & Fr 2,582 2.5
30 | N FE R 2,170 2.1

RRHHR b 4 — 2,683 2.6
Mo % K] 3,696 35 31 | < B & F P 2,047 2.0
BEF &R FH 1,656 1.6 32 |32 f& /N F B 2,330 2.2
T ¥ H & & Fr 3,962 3.8 33 |& o x % F P 1,860 1.8
B N R 2,344 22 34 |E W /b F K 2,616 2.5
35 b & U & & Pl 2,482 2.4

moMoN FE R 3,223 3.1
HOE A R O 1,258 1.2 36 [ Kk b FE K 2,244 2.2
/G ] =S i) 2,121 20| 37 |E B & & AT 1,907 1.8
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= # H % 73 23 14 22 4 - — —
NI H %% 29 9 6 8 6 — — —
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A % 7 2 1 2 2 — — —
m R @ ft 6 2 1 2 1 - — —
X B R WK 6 2 1 2 1 - — —
o K E 6 2 1 2 1 - — —
ft % ® 4 156 41 32 57 26 — - -
m R 7 M 133 34 30 49 20 — — —
% il 39 12 9 10 8 — — —
T B W E 25 10 1 11 3 - — —
2 % £ — — — — - = — —
w F B #® 41 5 11 21 4 — — —
TOMEBEHER 28 7 9 7 5 - — —
B w® W 9 2 2 2 3 - — —
i JFE 4 1 — 2 1 - — —
BoE - B OH 8 4 — 4 - - — —
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Bo® F R 82 29 18 19 6 — — —
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15 1,092 1,020 653 367 680 144 117 35 22 22
16 1,104 1,008 047 361 675 145 112 28 21 27
17 1,039 995 041 354 660 149 110 28 21 27
18 1,039 988 637 351 667 152 103 28 21 17
19 1,039 967 627 340 651 149 100 28 21 18
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15 43.2 — 28 80 134 89 142 235 217 95
16 43.3 — 30 75 127 106 121 222 223 104
17 43.7 — 27 77 124 113 103 196 234 121
18 44 .4 1 27 70 103 116 100 176 239 156
19 445 2 28 Al 95 126 95 151 229 170
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15 20.8 50 49 84 121 69 149 300 170 28
16 21.0 57 31 77 150 56 117 268 216 36
17 22.6 56 27 82 144 06 106 234 238 42
18 22.1 55 27 88 113 91 06 240 250 58
19 222 57 38 81 96 104 50 213 253 75
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